IPv4

EDNS0:4096 EDNS0:1232 EDNSO0:512

IPv6

EDNS0:4096 EDNS0:1232 EDNS0:512

Dual-Stack

EDNS0:4096 EDNS0:1232 EDNS0:512

1

no_dnssec-both-UDP_client_edns_fallback
IPv4 IPv6

EDNS0:512 EDNSP:1232 EDNSP:4096

EDNS0:512 EDNSD:1232 EDNSP:4096

Dual-Stack

EDNS0:512 EDNSP:1232 EDNSP:4096

TTTT TTTT

TTTT

TIrrr TTTT

TTTT

TTTT TTTT

TTTT

L9927 9077 G077 | 4227 | NN | 2727 | 74277,
VAR A LAY | L7 NN\ | L7 | 4
AW L7 | 27747 | NN | 2777 | L/
/2 AN DL | 772277 | NN\ | L2 ts | 2777
G Y 07 | 07 | NN\ LA S
LIl LY 7 A 272 AR 772777
YL | 1L N AW AR NN R WA AR 4
/AW Y7 | 20777 | NN | 47U | LA/
VAN DOLAL | L2/ | NN | L0070 | 270777
Y709 1977 1997 | 9277 | NN | 4477, | 4477
AV o Y07 | 7077 NN | LA | L7
LL17 | 2477 LS| Lo | NNNN 7004 A
(VAW 2 L1210 | 270747 | NNNNN | 217 | L7
7 A2 L% | 4407 NSNS | 4494, 16967
LA | LY VR ARSDSSIN R R/ AW A //
VA AR A L7 | L2707 | NN\ | Y07 | (77
(/AW YL | 2477 | NN | LY A7 | LYo
NNANNNEENNNN NN ANANNY AWANNNN NUINANNNEENANN N
NRNRNNIENNNNNNY NN HEE | NNNN [ QONNN
ANNINRNEININANNNNY NN ANNINRNEINTNNNNY
DNINANNNEEINNNNN NNON | NWNNN | = DNINANNNEIEINNNN RN
ANNNN RN NNNNN NWANN | NN | B ANNNNRNEENINNNNN
LA 1007 9007 77772 | NN\ | 22072 | 7477
YILY | 12477 ///’/// Y2007 | NN\ | Y07 | 1777
/AW 2, Y07 | 777 | NN | 77| LY
LI | 2077 GOSIL | L A270 | NN\ | LAl | 210477
N /4 LNANN 7’/
L9727 24747 7949\ 7727 | NN\ | 27407, | 2477
YULL | 47 //f/,{/// Yl NNNN | 2477 ///{///
/AN Y107 | 074777 NN | L7 Yo7
YLIL | 12777 LAY | L2007 | NN\ | LAY | 0 70Y7.
ANANNYN INANN ANANNN N DNANN
QANNN [ NN NSVON [ NN QANNN [ NN
NWONN [ NNN\WN AANNAN] N\\&N NIRRT ENNNNYNY
AANNNINEENYINRNNN NINANNNEERNNNN NN I ANNNRNEENYINRNNNN
DY NNNNNEBANNNNYN] NNQN | NN DNANNNNNEBANNNNRN]
L LI LI LI L T L LI L
ZRRE ZRYS ZRRE RS IRRS g ZRYL ZIRE IRRS
oooz oooi oooi oooi oooz i oooi oooi oooz
oSN oS N oSN oS N oSN ) oSN oS N TSN
S ® S ® S ® S ® o ® @D d® d® o ®
Sv° S53° S53° 53 5%° S 535 535 535
[ c<s c<S [ [ ) (=) [ c<S
eg3 ©8% 3 o3y o3 o3 o o off
o= o= &= o= &= = &= o= &=
= = = = = = = = =
[ Cc [ Cc [ Cc [ Cc [
A=) A= A=) A= A=) A=) A= A= A=)

1500

1280 PMTUD

1280 (n

Path1280 noP TUD)

1500

1280 PMTUD

1280 (n

Path1280 noP TUD)

1500
1280 (PMTUD)
1280 (no PMTUD
Path 1280 (no PMTUD)

1500

1280 PMTUD

1280 (n

Path1280 noP TUD)

1500

1280 PMTUDLJ

1280 (no PMTUD
Path 1280 (no PMTUD)

1280 (no PMTUD

15
1280 EPMTUD
Path 1280 (no PMTUD)

1500

1280 (PMTUD

1280 (no PMTUD
Path 1280 (no PMTUD)

15
1280 PMTUDL
1280 (no PMTUD

Path 1280 (no PMTUD)

1500
1280 PMTUDLJ
1280 (no PMTUD

Path 1280 (no PMTUD)

100;X >Y
50

-100; X <Y

log(‘%nssets (X) - %nssets (Y)D

fv)



